O = ON

IntrafloProducts.com



Table of Contents

Intraflo Products Page 2

Introduction to Series Progressive Lubrication System Page 3

40 Series Valves
Cycle Indicator Pin Included Page 4

Cycle Indicator Pin Not Included Page 4

Managed Lube Fitting System

Grease Manifolds Page 5
Fittings and Adapters
Valve Outlet Fittings Page 6
Hose End for 5/16” O.D. Hose Page 6
Bulkhead Fittings New Part! Page 6
Hose Ends for Push To Connect Fittings Page 6
Push To Connect Fittings Page 7
Grease Zerks and Accessories Page 7
Adapters: 1/8” NPT and 1/47-28 New Part! Page 8

Hose and Tubing

5/16" O. D. Supply and Feed Line Hose Page 9

1/4” O. D. Nylon Tubing Page 9
Pumps

Electrical Pump Page 10

Accessories

Valve Mounting Accessories Page 12
System Accessories Page 13, 14
Kitting Page 15

Lube System Layout

Form Page 17

Numerical Index Page 19




Intraflo Products

Semi Trucks
\X/aste Trucks
Cement Trucks
Trailers

Haul Trucks
Dump Trucks

Etc.

Excavators

\XWheel Loaders
Articulated Trucks
Motor Graders
Cranes

Scrapers

Etc.

Presses
Compactors
Mills
Crushers
Conveyors
Fans

Etc.

bl LT

Combines

Sprayers
Balers
Tractors

Cotton Pickers

IntrafloProducts.com

816-781-9313

oOorm>»=x3—A2Z2 —

wWHANANCOO=R T



Series Progressive Lubrication System

Introduction to Series Progressive

The series progressive system is designed to provide a more reliable and efficient way to lubricate machinery bearings. By
centralizing all of a machine’s grease points, the amount of time needed to properly maintain a piece of equipment is
greatly reduced. Downtime due to bearing related failures decreases also. Worker safety is improved by virtually elimi-
nating the need to remove safety guarding, or to crawl into a piece of equipment to access those hard-to-reach grease
points. All of the grease points are lubricated by one safe and easily accessible location outside of the safety guarding.

=

The 40 Series Valve is the heart of each series progressive lubrication system. Each 40 Series Valve incorporates a number
of metering pins that dispense a highly repeatable volume of lubricant to each outlet. Visual confirmation that the valve has
completed a full cycle is provided by a cycle indicator pin.

Figure 1

Crossporting a 40 Series Valve -~ Ut

Each outlet on the 40 Series Valve is marked with a number. By placing an M10x1 closure

plug in an outlet, the lubricant is redirected to the next adjacent outlet in descending
numerical order. Crossporting allows multiple outlets to be combined together to meet the
demands of larger lube points. Special attention must be paid to never plug outlets 1 and 2.
There are no crossport passages in either of these outlets, plugging them will cause the valve
to stop working.

nwnm=-—z=xmMmw

In figure 1, outlets number 5 and 3 have closure plugs causing the lubricant volume of each
to be redirected to outlet 1.

| Cycle Indicator Pin
=
=5

wm<r >»K

: i

3 IntrafloProducts.com 816-781-9313



Series Progressive Lubrication System

1/4" Dia.

o 4

15/64" B T
6mm
: P A

2-23/64" 1-3/ 16'LJ
60mm 30mm

40 Series Divider Valves are available with or without a cycle indicator pin, which provides visual indication of proper S
system function. Our zinc/iron, trivalent black chromate plating gives the 40 Series Valves a corrosion resistance of
720 hours per ASTM B117. RoHS & ELV Compliant E
Production Output/ Operating Temperature l
Lubricant Inlet
Material Operatlng Pressure Cycle per Outlet Min. Max.
Carbon Steel 5076 psig/ 350 bar .012in3/ .2 cc 1/8” NPTF (F) -22°F /-30°C 212°F/ 70°C
Model No. Number of Outlets Cycle Indicator Pin Dimension A
401061 Yes
6 2.36in./ 60 mm v
401062 No
401081 Yes
8 2.95in./75 mm A
401082 No L
401101 Yes
10 3.54in./90 mm v
401102 No
401121 Yes E
12 4.14in./ 105 mm
401122 No S
401141 Yes
14 4.8in./ 120 mm
401142 No
401161 Yes
16 54in./135mm
401162 No
401181 Yes
18 5.9in./ 150 mm
401182 No
401201 Yes
20 6.5in./ 165 mm
401202 No

*Note: Outlets | and 2 must be used on each of the models listed above to ensure proper system function.

*Note: Valve outlet fittings must be used for lubricant outlets on 40 Series Valves.

IntrafloProducts.com 816-781-9313 4



mwXm=3ahb

WOroOom=-=2>»=<

Managed Lube Fitting System

Do you have problems accessing your lubrication fittings? Are your fittings hard-to-reach, in a dangerous
location, require removal of guarding, or just inaccessible? Intraflo® has the solution! Managed Lube Fitting
System. Our Managed Lube Fitting System will focus the hard-to-reach, dangerous, and difficult to access

bearing points to one centralized location. Manage your approach with Intraflo® today.

Muilti-surface Mount Manifolds
Our multi-surface mount manifolds provide multiple landing points to a centralized location. \Xith one
centralized location, bearings can be coupled together using our manifolds, feed lines and lubrication fittings.

See pages 8, 92 and 10 for our Fittings and Hose.

A /‘ 1/8" NPTF Inlets

9/32" "
1/8" NPTF Inlets 7.14mm Both Sides
Both Sides Mounting
All Sides

9/32"
7.14mm
Mounting
All Sides

D
<E
*>/|/B

Model No. Number of A . ¢ ° 8

Inlets In./ mm In./ mm In./ mm In./ mm In./ mm
6700249 1 11/4 / 31.8 3/8 /9.5 n/a 3/4 / 19.1 3/4 / 19.1
6700250 2 13/4 / 44.5 7/8 / 22.2 n/a 3/4 / 19.1 3/4 / 19.1
6700251 3 23/4 / 69.9 7/8 / 22.2 1/ 254 3/4 / 19.1 3/4 / 19.1
6700252 4 33/4 / 953 7/8 / 22.2 2/ 508 3/4 / 19.1 3/4 / 19.1
6700253 5 43/4 / 120.7 7/8 / 22.2 3/762 3/4 / 19.1 3/4 / 19.1
6700254 6 53/4 / 146.1 7/8 / 22.2 4/ 1016 3/4 / 19.1 3/4 / 19.1

IntrafloProducts.com 816-781-9313



Series Progressive Lubrication System

Madel No. Description

6200247 Valve Outlet Adapter W/ Check 1/8” NPT (F)
6300247 Valve Outlet Adapter \W/O Check 1/8” NPT (F)
6203032 Valve Outlet Adapter W/ Check, Push to Connect
6470201 M10X1 Closure Plug

Moadel No.

Description

6010236

1/8” NPT Field Installable Hose End

Model No. Description
6000615 Standard Length Field Installable Bulkhead
6000680 Extended Length Field Installable Bulkhead
6400615 Standard Length Bulkhead Adapter
6400680 Extended Length Bulkhead Adapter
6400673 Flanged Bulkhead Nut

Model No. Description
6000241 Field Install Nut for use with 5/16” O.D. Hose
6000334 Short Field Install (to be used with 6000241)
6000359 Configurable Straight Field Install (to be used with 6000241)
6020334 90 deg. Field Install (to be used with 6000241)
6040334 45 deg. Field Install (to be used with 6000241)

IntrafloProducts.com

=

6200247

=

6300247

Any

6203032

6470201

6010236

6000680

O

6400673

=D

6400615

6400680

6000334

6000241
6000359 |mdsmm—
6020334

6040334
816-781-9313

=g

Oz> wAZ == - =—m

waxm= =< >» 0>



WA Z2—-—2o=m

oz>

wxaxm-= =9I >»0>

Series Progressive Lubrication System

D o ==

6403038 6403044

6403037

= F F

6423037

6433037

6423038

i

6433038

6472220

o

6800257

3

6820257

“

82032

6433039

8 Model No.
6800228 6472220
6800228
ﬁ 6800257
6800258 6800258
6820257
‘ 6840257
6840257 Sl
82038
[ ]
82038
IntrafloProducts.com

Model No. Description
6403037 Straight Push to Connect 1/4"-28

6403038 Straight Push to Connect 1/4” X 1/8” NPT
6423037 90 deg. Rigid Push to Connect 1/4"-28

6423038 90 deg. Rigid Push to Connect 1/4” X 1/8” NPT
6403044 Tube/Stud Union 1/4”

6433037 90 deg. Swivel Push to Connect 1/4"-28
6433038 90 deg. Swivel Push to Connect 1/4” X 1/8” NPT
6433039 90 deg. Swivel Push to Connect 1/4” X 1/4” NPT

Description

Brass Hex Plug 1/8” NPT

1/4"-28 (M) Standard Zerk

1/8"-27 (M) Standard Zerk

1/8"-27 PTF SAE Short (M) 10K PSI Leakless \X// Surface Ball Zerk

1/8” (M) Standard 90 deg. Zerk

1/8” (M) Standard 45 deg. Zerk

Red Plastic Zerk Cap

Protective Rubber Boot

816-781-9313




Series Progressive Lubrication System

Model No. Description
6400216 1/8” NPT (F) X 1/4"-28 Straight Adapter

6400217 1/8” NPT (F) Coupler

6400223 1/4” NPT (M) X 1/8” NPT (F) Reducer Bushing

6400224 1/8” NPT (M) X 1/8” NPT (F) Straight Adapter 15/16" Length
6400255 1/8” NPT (M) X 1/8” NPT (F) Straight Adapter 1 1/4” Extension
6400284 1/47-28 (M) X 1/47-28 (F) Straight Adapter 1.06” OAL
6420216 1/8” NPT (F) X 1/47-28 (M) 90 deg. Adapter

6420222 1/8” NPT (M) X 1/8” NPT (F) 90 deg. Adapter

6420225 1/8” NPT (M) X 1/8” NPT (F] 90 deg. Adapter 1 1/2" Extension
6440216 1/8” NPT (F) X 1/4"-28 (M) 45 deg. Adapter

6440222 1/8” NPT (M) X 1/8” NPT (F) 45 deg. Adapter

6460211 1/8” NPT (M) X 1/8” NPT (F) X 1/8” NPT (F) Steel Street Tee
6462211 1/8” NPT (M) X 1/8” NPT (F) X 1/8” NPT (F) Brass Street Tee

i

6400216

6400284

¢ @ v

6400217 6400223 6400224
6420216 6420222 6420225
6440222 6460211 6462211

IntrafloProducts.com

6400255

¥

6440216

816-781-9313

oz> WA 2Z — = < =m

wxaxm= =< >»0 >



mwQ=I

O 2

Q2 —WC-H

Intrflo

6584702

Series Progressive Lubrication System

Model No. Description
6584742 5/16" O.D. Hose 26’ Grease Filled

6584743 5/16” O.D. Hose 35’ Grease Filled

6584702 5/16” O.D. Hose 40’ Grease Filled

6584703 5/16” O.D. Hose 100’ Grease Filled

6594702 5/16” O.D. Hose 40" Non Grease Filled
6594703 5/16” O.D. Hose 100’ Non Grease Filled
6594704 5/16” O.D. Hose 200’ Non Grease Filled
6594767 5/16” O.D. Hose 3000’ Reel Non Grease Filled

Model No. Description
6685700 Nylon Tubing 25’ Grease Filled, Black
6685705 Nylon Tubing 50’ Grease Filled, Black
6695700 Nylon Tubing 25’ Non Grease Filled, Black
6695705 Nylon Tubing 50’ Non Grease Filled, Black
6695706 Nylon Tubing 100’ Non Grease Filled, Black
6695707 Nylon Tubing 200’ Non Grease Filled, Black

Model No. Description
6685783 Nylon Tubing 25 Grease Filled, Gray
6685708 Nylon Tubing 50 Grease Filled, Gray
6695783 Nylon Tubing 25’ Non Grease Filled, Gray
6695708 Nylon Tubing 50" Non Grease Filled, Gray
6695709 Nylon Tubing 100’ Non Grease Filled, Gray
6695710 Nylon Tubing 200" Non Grease Filled, Gray

IntrafloProducts.com

816-781-9313




Electric Pumps

Electric Pump Specifications

Max number of pump elements: 3
\Working Pressure: 4061 psi. (280 bar)

Low Level: Standard

Dual access ports: Convenient refilling
Max grease viscosity: NLGI 2

Integrated valve mounting provisions

Nominal output per pump element: 0.1 7in3/min @ 20 RPM

Variable Motor Speed: Run motor at 50-100% speed (Timer Models Only)

Voltages Available: 12 VDC, 24 VDC, 110 VAC, 220 VAC

400 2 liter
Standby: 0 Min.—99 Hrs.
401 5 liter
\Yorking: 1 Sec.—29 Mins.
402 8 liter
110 VAC/ 230 VAC
400F* 2 liter
401F* Proximity Feedback 5 liter
402F* 8 liter
403 2 liter
Standby : 0 Min.—99 Hrs.
404 5 liter
\Working: 1 Sec.—29 Mins.
405 8 liter
12 VvDC/ 24 VDC
403F* 2 liter
404F* Proximity Feedback 5 liter
405F* 8 liter

Note: Other pump options are available. Contact your sales representative for more details.

*Note: Proximity switch and cable sold separately.

IntrafloProducts.com

816-781-9313

w9 =C

10



Electric Pumps

Electric Pump Specifications Continued

Note: Other pump options are available. Contact your sales representative for more details.

406 2 liter
407 110 VAC/ 203 VAC 5 liter
408 8 liter
409 2 liter
410 12 VDC No Timer 5 liter
411 8 liter
P 412 2 liter
U 413 24 vDC 5 liter
M 414 8 liter
P
S

11 IntrafloProducts.com 816-781-9313



Series Progressive Lubrication System

Model No. Description
80001 \Weld-On Valve Mount 1/4”-20 Thread
80003 Valve Mounting Bracket
80016 Valve Mounting Bolt 1/4”-20 X 1 3/4” Grade 8
80017 Valve Mounting Bolt 1/4"-20 X 3" Grade 8
80024 1/4”-20 Nylon Locknut (for use with 80003)

Model No. Description
80004 Weld Stud 1/4"-20 X 0.75"
80005 Weld Stud 3/8"-16 X 1.0”
80052 Stand Off 3/8"-16 1" OAL
80081 Stand Off 3/8"-16 5/8"OAL
81006 1/2” P-Clamp, Vinyl Coated (to be used with 80005)
81007 3/4” P-Clamp, Vinyl Coated (to be used with 80005)
81008 1” P-Clamp, Vinyl Coated (to be used with 80005)
81009 1-1/4” P-Clamp, Vinyl Coated |(to be used with 80005)
81010 1-1/2” P-Clamp, Vinyl Coated (to be used with 80005)
81011 1/2” P-Clamp, Vinyl Coated (to be used with 80004)
81012 3/4” P-Clamp, Vinyl Coated |(to be used with 80004)
81013 1” P-Clamp, Vinyl Coated (to be used with 80004)
81014 1-1/4” P-Clamp, Vinyl Coated (to be used with 80004)
81015 1-1/2” P-Clamp, Vinyl Coated (to be used with 80004)
81016 3/8" P-Clamp, Vinyl Coated |(to be used with 80004)

IntrafloProducts.com 816-781-9313

Wwm=3I0wLwuLuMmMmANAAND

12



Model No.

Series Progressive Lubrication System

S =

Description

80024

1/4"-20 Nylon Locknut (to be used with 80004)

80025

3/8"-16 Nylon Locknut (to be used with 80005)

82028

1/2” O.D. Spiral Hose Wrap .062 100’ (Black)

82029

5/8" O.D. Spiral Hose Wrap .062 100’ (Black)

82030

3/4” O.D. Spiral Hose \X/rap .062 100’ (Black)

82031

1” O.D. Spiral Hose Wrap .065 100’ (Black)

81026

Nylon Zip Ties 120Ib, 14" (Black, 100 per package)

81027

Nylon Zip Ties 120Ib, 8.5” (Black,100 per package)

81044

Nylon Zip Ties 50Ib, 7.5” (Black, 100 per package)

80045

Pump Mounting Bracket

80067

Remote Fill Bracket for Pump 3/16" Steel

82083

2" Heavy Wall “C” Guard

wm=-=330LVULUMmNOND>D

85046

ATO Fuse Tap

85047

Mini Fuse Tap

85053

ATO Fuse, 5 Amp

85054

Mini Fuse, 5 Amp

85068

ATO Fuse, 10 Amp

85069

Mini Fuse, 10 Amp

85051

M11X1 Inductive Prox. (to be used with 40 and 41 Series Valves)

1 3 IntrafloProducts.com

816-781-9313




Series Progressive Lubrication System

Madel No. Description
82063 48" Boom Guard
82064 26" Dog Bone Guard
85059 M12 Single-ended Cable, 2 m
85060 M12 Single-ended Cable, 5 m
85061 M12 Single-ended Cable, 10 m
85071 M12 Patchcord Female Straight/Female Straight (to be used with 85073)
85072 M12 Patchcord Female Straight/Female Straight (to be used with 85073)
85073 Panel Mount, llluminated Momentary, 24 VDC Pushbutton

Bolt-On Tee, plated, 1/8” NPT (F) X 1/8" NPT (F) X 1/8" NPT (F).

6760212
9/32” Mounting holes for use with 1/4” diameter bolts.
\Weld-On Tee, raw steel/no plating, 1/8” NPT (F) X 1/8” NPT (F) X 1/8” NPT (F).
6760271
9/32" Mounting holes for use with 1/4” diameter bolts.
83040 HD Tube / Hose Cutter
83041 Replacement Blades for HD Tube / Hose Cutter
86055 Repair Kit \X// Hose
86070 Grease Filter

P
il 1
IntrafloProducts.com 816-781-9313

wm=-=330LVuLumMmNOND>D

14



OZ—-2-4=-x

Series Progressive Lubrication System
Factory Assembled Kits

\Xhy use kits?

-Reduce internal labor costs of purchasing and installation of material.
*Reduce inventory of components.

- Reduce returns.

-Reduce cost of labor on activities that hinder installation.

- Decrease installation time.

-Increase installation success.




Series Progressive Lubrication System

Intraflo Products provides cost effective, need-specific kits. Our kitting
ranges from a completely assembled and tested bolt-on solution to in-
dividual components specific to your application. You may also request
NLGI #2 grease or non-grease filled, labeled or non-labeled hose/
tubing.

OZ—-—-244—-x

To learn more about what Intraflo Products can do for your
company, contact us at 816-781-9313.




Lube System Layout

Company: Phone:
Contact: E-Mail;
Date: Machine:

Pump (Circle One)

Grease Gun 12 VDC Pump 24 VDC Pump 110 VAC Pump 220 VAC Pump

Pump Options (Circle all that apply)

Low Level Feedback No Timer or Feedback Integrated Timer Mounting Bracket

Bearing Information Guide

Roller Bearings: List shaft diameter, how many rows of rollers (consider needle and long roller type as two rows).

Bushing/Plain Bearing: List shaft diameter and bearing length. Slides, Gibs or Ways: List Length and Width of Surface

Bearing Name/Location Bearing Information Zerk Thread (1/8” NPT, 1/4"-28, etc.)

—

A N A o

©

1 7 IntrafloProducts.com 816-781-9313



Lube System Layout

Bearing Name/Location Bearing Information Zerk Thread (1/8” NPT, 1/4"-28, etc.)

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.
23.

24.

25.

26.

27.
28.
29.
30.

Did you forget anything?

- )

Valve Mounts Valve Mounting Bolts Grease Filter

Pump Mount Bracket Repair Kit P-Clamps Zip Ties

o J

IntrafloProducts.com 816-781-9313 18



eries Progressive Lubrication System

Numerical Index

Model No. Part No. Model No. Part No. Model No. Part No.

400 10 81006 12 85060 14

400F 10 81007 12 85061 14

401 10 81008 12 85068 13

401F 10 81009 12 85069 13

402 10 81010 12 85071 14

N 402F 10 81011 12 85072 14

U 403 10 81012 12 85073 14
M 403F 10 81013 12

404 10 81014 12 86055 14

E 404F 10 81015 12 86070 14
R 405 10 81016 12

I 405F 10 81026 13 401061 4

C 406 11 81027 13 401062 4

A 407 11 81044 13 401081 4

408 11 401082 4

L 409 11 82028 13 401101 4

410 11 82029 13 401102 4

411 11 82030 13 401121 4

l 412 11 82031 13 401122 4

N 413 11 82032 7 401141 4

D 414 11 82038 7 401142 4

E 82063 14 401161 4

80001 12 82064 14 401162 4

X 80003 12 82083 13 401181 4

80004 12 83040 14 401182 4

80005 12 83041 14 401201 4

80016 12 401202 4
80017 12 85046 13

80024 12,13 85047 13 6000241 6

80025 13 85051 13 6000334 6

80045 13 85053 13 6000359 6

80052 12 85054 13 6000615 6

80067 13 85059 14 6000680 6




Series Progressive Lubrication System

Numerical Index

Model No. Part No. Model No. Part No. Model No. Part No.
6010236 6 6470201 6 6800228 7
6020334 6 6472220 7 6800257 7
6040334 6 6800258 7
6584702 9 6820257 7
6200247 6 6584703 9 6840257 7
6203032 6 6584742 9
6584743 9
6300247 6 6594702 9
6594703 9
6400216 8 6594704 9
6400217 8 6594767 9
6400223 8
6400224 8 6685700 9
6400255 8 6685705 9
6400284 8 6685708 9
6400615 6 6685783 9
6400673 6 6695700 9
6400680 6 6695705 9
6403037 7 6695706 9
6403038 7 6695707 9
6403044 7 6695708 9
6420216 8 6695709 9
6420222 8 6695710 9
6420225 8 6695783 9
6423037 7
6423038 7 6700249 5
6433037 7 6700250 5
6433038 7 6700251 5
6433039 7 6700252 5
6440222 8 6700253 5
6440216 8 6700254 5
6460211 8 6760212 14
6462211 8 6760271 14

rF>N—-3m2C2Z

X mQ2Z —




Series Progressive Lubrication System

Intraflo Products

6512 Royal Street

Pleasant Valley, MO 64068

Phone 816-781-9313

Fax 816-781-9316

Email customerservice@intrafloproducts.com

www.IntrafloProducts.com

Intraflo Products

Form 41 12/2018



